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y = Asin(27 ft) (1)
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>> t=0:1/8000:1;

>> f=440;

>> a=0.8;

>> y=axsin(2 *pi *f *t);
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>> n=0:10
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>> m=1.0.5:2
m =

—1.0000 —0.5000 0 0.5000 1.0000 1.5000 2.0000

goboobooboobooboo os0bboobooboobg
gbooobO ;0bobooboboobocoboboog

>> a=1

1

>> b=2;
>> c=atb;
>>
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>> help sin
SIN ooDoooooogao
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0 O asin, sind.
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doc sin
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>> sin(0:0.1:1)
ans =
Columns 1 through 7
0 0.0998 0.1987 0.2955 0.3894 0.4794 0.5646
Columns 8 through 11

0.6442 0.7174 0.7833 0.8415
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>> sound(y, 8000)
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’>> plot(y)
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googog 3: 2000 plot

>> plot(t,y)
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>> y(1)
ans =

0
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>> y(1:10)
ans =
Columns 1 through 7
0 0.2710 0.5099 0.6886 0.7858 0.7902 0.7010
Columns 8 through 10

0.5290 0.2945 0.0251
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>> plot(y(1:10))
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>> r=1:10;
>> plot(t(r),y(r))
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>> fs=8000;

>> t=0:1/fs:1;

>> a=0.3;

>> y523=a *sin(2 *pi *523+*1);
>> y660=a *sin(2 *pi *660+1);
>> y784=a*sin(2 *pi * 784 +1);
>> sound(y523+y660+y784,fs)
>> r=1:100;

>> yy=y523+y660+y784;

>> plot(t,yy)
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>> a=0.4;

>> y438=a *sin(2 *pi *438+1);
>> yd42=a *sin(2 *pi *442+1);
>> sound(y438+y442.fs)
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yy = asin(27 fit) + asin(27 fat) (2)
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YY = yy cos(27 ft) sin(27 f,t) (3)
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>> yy=ayy *cos(2 *pi xfb xt). *sin(2 =*pi xfa *t);
>> sound(yy,fs)
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>> x=[1 2 3];
>> y=[4 5 6];
>> X, *y

ans =

4 10 18

x4y 00000x(D#*y(1) 000000000000000000000
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>> sound(20 *sin(2 *pi * 440+ t),fs)
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>> v1=[0 1 2]
vl =
0 1 2
>> v2=[3 4]
v2 =
3 4
>> v3=[5 6 7 §]
v3 =
5 6 7 8
>> v=[vl v2 v3]
v =

0 1 2 3 4 5 6 7 8
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’>> soundsc([y523 y660], fs)
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>> [y, fs, nbits] = wavread( ' vibra8.wav ');
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>> y(1:10)
ans =

0
—0.0000

0
—0.0001
0.0001
—0.0006
—0.0016
—0.0017
—0.0016
—0.0014
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>> size(y)
ans =
26000 1
>> size(t)
ans =

1 8001
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>> [y, fs,nbits]=wavread( " vibra8.wav ');
>> t=0:1/fs:1;

>> f=440;

>> a=0.1;

>> ysin=a *sin(2 *pi *f *t);

>> ymix=y+ysin
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>> |ookfor 0o
ctranspose - Ooooooao
transpose - ooad
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>> ysin _t=ysin’;
>> size(ysin  _t)

ans =

8001 1
>> size(ysin)
ans =

1 8001
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>> ymix=y+ysin  _t
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>> size(y)
ans =

26000 1
>> size(ysin  _t)

ans =

8001 1
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>> ymix=y(7000:15000)+ysin _t;
>> soundsc(ymix,fs)
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